Math 11.07 Quiz Ch 6.1-6.4 Winter 2019 'NAME Last K E\‘ . First

TURN OFF & PUT AWAY ALL CELL PHONES & other devices, except your calcﬁlatbr.
You can not use a cell phone as your calculator or for any other reason, during this quiz. ST
You are permitted one page of notes, 1 sided handwritten , or one half page 2 sided

Show WORK : Show how you set up eakch 'prbblem, writing out the formulas with the numbers.
substituted into them. Then evaluate all answers. ' '
e Neat logically organized understandable work is'‘needed; partial credit can not be assessed if work is
missing or is not clear to understand. Different rounding may lead to different answers, soitis
important to show your work ' : :

¢ Allperiodic payments are at the end of each periéd, Payment periods are always the same as the
compounding period (sarme as we've done in class and homework.)

¢ State monetary values as answers to dollars and cents. Keep 4 or 5 decimal places in the
numbers you use during your work on a problem. It will help maintain accuracy.

1. (3 points) A business expects to purchase new equipment i@ears that will cost $90,000.

The business owner plans to deposit money into a sinking fund twice each year (semiannually) fears.

The sinking fund earns 5.7% interest, compounded semiannually. Find the amount of the semiannual payment
the owner must make into the sinking fund in order to have $90,000 at the end uﬂ ears. Show Work!
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2a. (2 points) How much money should be deposited now, as a lump sum, into an investment earning

5.5% simple interest to accumulate to $7000 at the end of 6 years? Show work.
Given: A="1000
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2b. (2 points) How much money should be deposited now, as a lump sum, into an investment earning
5.5% interest compounded continuously to accumulate to $7000 at the end of 6 years? Show work.
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2¢. (3 points) How much money should be deposited now, as a lump sum, into an investment earning
5.5% interest compounded quarterly to accumulate to $7000 at the end of 6 years? Show work.
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3. (3 points) Find the amount of the quarterly payment on loan of $8000 with payments made at the end of each
quarter over 5 years at a loan interest rate of 5% compounded quarterly. Show Work!
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4. (4 points) Anand wants to buy a car and has $6,000 for a down payment.
He can afford to pay $225 per month in payments on the car loan. -
Assume he has a 6 year loan with an interest rate of 5.3% compounded monthly. ,
Find the amount of loan and the price of the car that Anand can afford. Show Work!
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5. (3 points) $12,500 is invested today at an interest rate of 4.2% compounded annually
How long will it take to accumulate to $37,500?

Show appropriate ALGEBRA work to solve this.
Trial and error or guess and check are not acceptable.
State your answer to the nearest “+enth . of a year (1 decimal place )
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